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@ checkpoint Factor the polynomial.

l,/FHC.TO Q\

5, m2;3T;::+ 108x T IF A s Negehve hen
2x —2x Cx FrcTor (-1)
GCE sy
\-f—ax (X -3 X - qu ;7;; = KEEP FAcTue({ NG
D8 Cox (x+ e )x-%) oo e e
Co /é . You went
{w\d’& 6. 12y — 75y2 ‘/.S,o.éc‘m_ CASE __e__=C
G('d 4 B
i o o=
\ 3y ¢ ("f‘g -2 \) ‘U/
2 : _q‘ Q;: -5y (C\
~—| 37 (3y-8) (ay+s) | ot -39




‘SQLUQ. b\[ ‘F—ac*-ur\mzk |
0 Checkpoint Complete the Tollowing exerclses.

EC LR (Solve)a polynomial equation

by Pactan 4

T
Solve 5x3 — 25x2 = —30x.

\,

(020 (:-%= 0/ ¢ -t0= —L,o/

7. Solve 2x3 + 2x2 = 40);/ 0
Y

Solution & '
Mentel or 5x% — 25x2 = —3}94 Write original
c bax  fyox equation.
ALC 5x3 — 25x2 +— 30x =0 Abp 30x |The €@
C\&EC\L VL | to each side. m"j;{. "
Remember that 5 X ( X L -5X +L\ = O Factor '
you can checl; out G—C F
your answers oy
substituting each — 5 X (X "3\ (X - 2>¢® 6\ Factor
solution for x in the | trinomial.—
.ng DR tatien | =ﬁ 2( =0 or X '3/" O or X-2= 0 Zero-product _ s P
+3 +3 +z <2 property ¢ g .0
lx-z-_o_ )x— 3 7 F=Ar Solve for x.

—qox =Y
L | f;’
| .
2X2+2x 240K =0 - e
GCF»  2x (x4 x-20)=0
K‘—efﬁmﬂma ZX (x+s( X—l{:ﬁl =0
Now Sslue + \ g
X- =S
Check ! }%-’9__ x+§ © +if
Z. (— % &9
X=0| | X -—5! K=
¢ 020" (im0 £ 00V






